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Exercise 1 let P (z) = —423 + 3z — 1.

1) Show that —1 is a root of P.
2) Solve in R the polynomial equation: P (x) = 0.
3) Solve in R the polynomial inequality: —1 < 3z — 43 < 1.

Exercise 2 Solve in R the following rational inequality:
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Exercise 3 Solve in R the irrational equation: /a3 + 22> = x + 1.

Exercise 4 Solve in R the following irrational inequality:
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b) Vs + 2 <z +1
Exercise 5 Solve in I = [—n,x|:
1) (V2 —2cosz)sinz = 0.
2) (\/5— 2008:1:) sinz < 0.

Exercise 6 Solve the following non linear system:

2?2 —y =26
222 + 1y = 100



